
/DWRB����

3UDFRZQLN�5R]NãDG���1RZDN�0LFKDã��7\J������

�������������7\G]���

'\GDNW\ND�SU]HGPLRWRZD
��QDXF]DQLH�ZI�Z�V]NROH
SRQDGSRGVW��üZ�� 1RZDN
0LFKDá� $&6�.21)� ���
:)�0����&�

3
Q

�������������7\J��������
��

'\GDNW\ND�SU]HGPLRWRZD��
QDXF]DQLH�ZI�Z�V]NROH
SRQDGSRGVW��üZ�� 1RZDN
0LFKDá� $&6�.21)� ���
:)�0����&�

�������������7\J����

7XU\VW\ND�V]NROQD��Z��1
RZDN�0LFKDá� $&6�
.21)� ���:)�0����:

�������������7\J��������
��

7XU\VW\ND�V]NROQD��üZ��
1RZDN�0LFKDá� $&6�
.21)� ���:)�0����&�

Z
WR

UH
N

�������������7\J����

3LáND�UĊF]QD��üZ�� 1RZDN
0LFKDá� $&6�$��$&6�%�
$&6�&� ���:)�0����&�

������
������
7\G]��

3LáND
UĊF]QD
�üZ�� 1RZD
N�0LFKDá� $
&6�$��$&6�
%��$&6�&�
���:)�0�
���:

�������������7\J�����

3LáND�UĊF]QD��üZ�� 1RZDN
0LFKDá� $&6�$��$&6�%�
$&6�&� ���:)�/����&�

ĤU
RG

D

�������������7\J���������

'\GDNW\ND�SU]HGPLRWRZD��
QDXF]DQLH�ZI�Z�V]NROH
SRQDGSRGVW��ODE�� 1RZDN
0LFKDá� ���:)�0����/�

=DMĊFLD�Z�,,�O,FHXP
2JyOQRNV]WDáFąF\P�LP�
5RPXDOGD�7UDXJXWWD

F]
Z

DU
WH

N

�������������7\J��������
��������

3LáND�UĊF]QD��üZ�� 1RZDN
0LFKDá� $&6�$��$&6�%�
$&6�&� ���:)�/����&�

�������ĞURGD���]DMHFLD�MDN
Z�SLąWHN

�������������7\J�������

7XU\VW\ND�V]NROQD��ODE��1RZDN�0LFKDá� $&6�6,/2:1,$� ���:)�0����/�

SL
ĈW

HN

�������������7\J��������������

3LáND�UĊF]QD��üZ�� 1RZDN�0LFKDá� $&6�
$��$&6�%��$&6�&� ���:)�5����&�

�������������7\G]���

3LáND�UĊF]QD��üZ�� 1RZDN�0LFKDá� $&6�
$��$&6�%��$&6�&� ���:)�5����&�

6
R

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


